16. FIND THE STANDAR DEVIATION OF THE DATA SET: 1, 1,-1,-1. (a)1  

(b)2/square rout of 3 (c)2/3 (d)0
17. Suppose a data set from a normal population has a mean of 18 and a standard deviation of 3. Find the z - score
for a data value of 12. (a) 6       (b) -2
(c) 97.72%    (d) 2
18. Assume that a set of test scores is distributed according to the normal distribution with a mean of 67 and a
standard deviation of 6. In what percentile is a score of 58?
(a) 93rdpercentile   (b) 7th percentile    (c) 16th percentile         (d) 98th
19. A data set consists of the numbers: 1.1,1.6,1.8,1.8,2.0, 2.2, 2.6,2.8, 3.0. Find the five-number summary
for the data.
(8)1.1,1.7,1.9,2.6,3.0   (b) 1.1,1.8,2.0,2.8,3.0    (c) 1.1,1.7,2.0,2.7, 3.0   (d) 1.1,1.7,2.1,2.6, 3.0
20. In what percentile is a data value that is 0.8 standard deviations below the mean?
Ih
(a) 78.81th percentile         (b) 34.46th percentile

(c) 65.54m percentile

(d) 21.19m percentile
Table of z-Scores and Corresponding Percentiles
	z-score
	-3.0
	-2.0
	-1.5
	-1.0
	-0.9
	-0.8
	-0.7
	-0.6
	-0.5

	percentile
	LP_il3
	2.28
	6.68
	15.87
	18.41
	21.19
	24.20
	27.43
	30.85

	z-score
	-0.4
	-0.3
	-0.2
	-0.1
	0.0
	0.1
	0.2
	0.3
	0.4

	percentile
	34.46
	38.21
	42.07
	46.02
	50.00
	53.98
	57.93
	61.79
	65.54

	z-score
	0.5
	0.6
	0.7
	0.8
	0.9
	1.0
	1.5
	2.0
	3.0

	percentile
	69.15
	72.57
	75.80
	78.81
	81.59
	84.13
	93.32
	97.72
	99.87


